As per grant of Affiliation Upgradation by CBSE, all the Science Lab(s) of the school has been enriched with with more Apparatus and equipments by purchasing more Apparatus and equipments for the enhancement in knowledge of our students, copies of the bills are attached herewith as evidence in support of enrichment of the Science Lab(s) of the school.

Copies of the bills of Science	<b>Apparatus and</b>	equipments	added in	n School	Science	Lab(s)

STIN :	06AIJPR0449M1ZU							Original Copy			
		A SCIENT			STRIF	5					
	SCIENCE MARKE	T,OPP. HARGOLA Tel. : 0171-400615	L DHARAMS	HALA, AME	BALA CANTT,	HARYAI	NA				
Nvoice No. : 91 Dated : 03-05-2022 Place of Supply : Punjab (03) Reverse Charge : N SR/RR No. : Fransport : Customer Self /ehicle No. :				Station : E-Way Bill No. : PAYMENT MODE : CASH CHQ. NO, DATE : AMOUNT : BANK NAME : PACKAGES :							
SBRS Publi	; ic Sen. Sec. School Dist:- Sangrur (PB)		SBRS		n. Sec. School - Sangrur (PB						
						•.					
Party Mobi State SSTIN / UI	: Punjab (03)		State	/ Mobile No e N / UIN	9 : 016752 : Punjab :	-					
S.N. Descrip	ption of Goods	HSN/SAC Code	Qty.	Unit	Price	IGST Rate	IGST Amount	Amount( <sup>۳</sup> ۰)			
1. Beaker	Borosilicate Glass 100ml	7017	6.00	Pcs.	22.00	18.00 %	23.76	155.76			
2. Litmus	Paper Red/Blue Sup. Qual.	4823	20.00	Pcs.		18.00 %	79.20	519.20			
	SIUM (METAL) ribbon	9802	5.00			18.00 %	90.00	590.00 306.80			
	e Tong 6" Ord. : U Shape 2" Fr.	9027 8505		Dozen Pcs.		18.00 % 18.00 %	45.80 18.00	118.00			
5	CE DIGITAL 10KG - 1GM	9016		PCS.		18.00 %	108.00	708.00			
	Borosilicate Glass 50ml	7017	10.00			18.00 %	180.00	1,180.00			
	ish Borosilicate Glass 80mm	7017	10.00	Pcs.	110.00	18.00 %	198.00	1,298.00			
9. Test Tu	ibe Brush	9027		Dozen		18.00 %	6.48	42.48			
10. Droppe	ar Plastic	3926	10.00			18.00 %	1.50	29.50			
	s.s. 6"	7326		Dozen Pcs.	60.00 25.00	18.00 % 12.00 %		70.80 140.00			
12. Filter P	-	4802 9027		Dozen		12.00 %		140.00			
	ube holder	9027		Pcs.		18.00 %		118.00			
14. Blow P	Gr. (Common) B/G	7017		Pcs.	1	18.00 %	(	70.80			
	Gr. 25ml B/C	7017		Pcs.	10.00	18.00 %	11.10	91.10			
	ass 3/4"	9014	1.00	Dozen	120.00	18.00 %	21.60	141.60			
18. DCC W		9027	1.00	Pcs.		18.00 %		141.60			
19. LED B		9023	10.00	Pcs.	5.00	18.00 %	9.00	59.00			
L		Totals c/o	96.00	Units				5,946.78			
Bank De	etails : BANK & BRANCH:- A/C NO.:- 0310102	and the contraction and because in the second		310							
Terms & Co			1				1.51				
E& O.E.	114140113		Receiver's Si								
	nce sold will not be taken back.							1			
is not made	@ 18% p.a. will be charged if the e with in the stipulated time. to 'Haryana' Jurisdiction only.	payment			for AL	FA SCI	A	INDUSTRIES			
Goolo	bur			۸.	1.t		U				
Chairpe	VUV			Aman	My	oinel					
SBRS	Public Sr. Sec. Schoo			P	Prin	cipal,					

÷.

Mullowal (Sgr.)

S.B.R.S.Public Sen. Sec. School, Mullowel (Sangrur)

	N : 06ALJPR0449M1 SCIENCI	ALFA S	CIEN	AX INVOI TIFIC AL DHARAMS		IBALA CANTT	S HARYA	NA	Original Cop,
Date Place	ice No. : 91 d : 03-05-2 e of Supply : Punjab erse Charge : N	2022		Stati E-Wa PAYN		: : DE : CASH			
GR/F Tran	RR No. : Isport : Custom de No. :	AMO BANI PACI							
SBR	ed to : S Public Sen. Sec. School owal , Dist:- Sangrur (PB)	SBRS	SBRS Public Sen. Sec. School Mullowal , Dist:- Sangrur (PB)						
State	y Mobile No : 016752 e : Punjab IN / UIN :			State	y Mobile No e N / UIN	o : 016752 : Punjab :			
«н,	Description of Goods		HSN/SAC Code	ርቲን.	Unit	Price	IGST Rate	IGST Amount	Amount(3
20		b/c		140.00	Units				10,503.6
	Loose Resistance Charcol Block		9027	10.00		3.00	18.00 %	5.40	35.4
	Pricm 1.5" 1ct Qual				Dozen		18.00 %	21.60	141.6
	DM Water		7017 9802	6.00			18.00 %	32.40	212.4
	Plane Side		7017	1.00			5.00 %	6.00	126.0
	Cover Slip Square 18x18mm ()	20 Pkt)	7017	5.00			18.00 %	36.00	236.0
44.	Pri Paper Sup. Qual.		4823		Pcs.		18.00 %	25.20	165.2
	Connecting Lead		9027	10.00 20.00			18.00 %	54.00	354.0
	Phenolphthalain (Indicator Sol	ution) 104w	9802	20.00			18.00 %	90.00	590.0
	Methyl Orange 125ml		9802	1.00			18.00 % 18.00 %	20.88	135.8
48.	IODINE SOLUTION		9802	1.00			18.00 % 18.00 %	14.76 55.08	96.7 361.0
				Add : Rou	inded Off (+)	)			<b>12,958.9</b> 0.0
		G	irand Total	197.00	Units			₹	12,959.0
HSI	N/SAC Tax Rate Taxable A 18% 600	mt. IGST Amt.	Total Tax						
392	(	.00 108.00	108.00 4.50						
480	17 17% 175	00 15.00	15 00						
Ba	nk Details : BANK & BI	RANCH:- IDBI	BANK, AMP	BALA CANTT.					
Ter	ms & Conditions	031010200000	0903, IFSC	Receiver's Sig	_				
1.0	O.E. Goods once sold will not be take	n back.		TROCEIVER & SIG	nature :	1. F		$\sim 1$	
100	Interest @ 18% p.a. will be char xxt made with in the stipulated ti Subject to 'Haryana' Jurisdiction	ime.	t			for AL	A SCIE	NTIFICIN	NDUSTRIES
	,							uthorise(	/ d Signatory
								$\bigcup$	
Gee	eea Uur				Ama	Int			
	nrberson				M	1 Drin	cipal		
(,na		Caheal							
S.B	R.S. Public Sr. Sec. llowal (Sgr.)	School	16	SRPS	Public	Sen. Sec. S			

		R0449M1ZU AL SCIENCE MA	DVET OD	CTENT		INDU	STRIES BALA CANTT, 130887	5 HARYA	NA		
Invoice No. : 91 Dated : 03-05-2022 Place of Supply : Punjab (03) Reverse Charge : N GR/RR No. : Transport : Customer Self Vehicle No. :						Station : E-Way Bill No. : PAYMENT MODE : CASH CHQ. NO, DATE : AMOUNT : BANK NAME : PACKAGES :					
<b>Billed</b> SBRS F Mullow	to ; Public Sen. Se val , Dist:- Sa	ec. School ngrur (PB)			SBR	Public Ser Wal , Dist:	n. Sec. School - Sangrur (PB	  )			
Party M State GSTIN		: 0167522925 : Punjab (03) :			State	y Mobile No e N / UIN	) : 016752 : Punjab :		11-		
S.N. De	escription of G	cods		HSN/SAC Code	Qty.	Unit	Price	IGST Rate	IGST Amount	Amount(	
	Details :	Thousand Nin	:H:- IDBI	BANK, AMBA	ALA CANTT.						
	& Conditions	A/C NO.:- 0310	1020000	00903, IFSC:	- IBKL0000						
2. Inter is not n	ds once sold will rest @ 18% p.a. nade with in the	not be taken back will be charged if stipulated time. Jurisdiction only.		nt			for AL	FA SCI	d	DUSTRIES d Signatory	
S.B.R	person R.S. Public Swal (Sgr.)	Sr. Sec. Sch	iool			Public S	Prin Sen. Sec. S (Sangrui				

Dat Plac Rev GR/ Trai	oice No. : 91 ed : 03-05-2022 ce of Supply : Punjab (03) rerse Charge : N /RR No. : nsport : Customer Self iicle No. :	PAYM CHQ. AMOU BANK	y Bill No. IENT MODE NO, DATE	CASH				
SBR	<b>led to :</b> 25 Public Sen. Sec. School Iowal , Dist:- Sangrur (PB)	SBRS		. Sec. School Sangrur (PB)				
Stat	ty Mobile No : 01675229254 te : Punjab (03) TN / UIN :		State	Mobile No N / UIN	: 016752 : Punjab :			
S.N.	Description of Goods	HSN/SAC Code	Qty.	Unit	Price	IGST Rate	IGST Amount	Amount( <sup>7</sup>
	b/d		96.00	Units				5,946.7
20.	Measuring Cylinder 10ml B/G	7017	6.00		40.00	18.00 %	43.20	283.2
	Measuring Cylinder 25ml (B/G)	7017	2.00		50.00	18.00 %	18.00	118.0
	Measuring Cylinder 50ml (B/G)	7017	2.00			18.00 %	21.60	141.6
	Pariscope (Plastic)	9027	1.00		50.00	18.00 %	9.00	59.0
	Mirror Concave/Convex 2"	9002		Dozen	120.00	18.00 %	43.20	283.2
	Lens Concave 2"	9002		Dozen		18.00 %	21.60	141.6
	Lens Concave 2 Lens Convex 2"	9002		Dozen	108.00	18.00 %	19.44	127.4
		9018	1.00		320.00	12.00 %	38.40	358.4
27.	Gloves Disposible Watch Glass 3"	7017		Dozen		18.00 %	7.20	47.2
		6909	4.00			18.00 %	28.80	188.8
29.	Pestle & Mortor 3"			Pcs.		18.00 %	32.40	212.4
30.	WASH BOTTLE	1	12.00			18.00 %	54.00	354.0
31.	Crusible 25ml	9027		Pcs.		18.00 %	9.00	59.0
100000	Iron Filing	9027		Pcs.		18.00 %		236.0
10000000000	Rheostat 6" Brass Rod	9027		Pcs.		18.00 %	1 1	767.0
	Ohm's Law Apparatus DC	9027		Pcs.	10.0 0001000	18.00 %		177.0
35.	LAZER POINTER RED	9027		Pcs.	350.00		1	413.0
36. 37.	Lazer Beam Green Pen Type Resistance Box Brass 1000 Ohms	9027 9027		Pcs.		18.00 %		590.0
	Tot	als c/o	140.00	Units				10,503.6
Ban	<b>k Details :</b> BANK & BRANCH:- IDBI A/C NO.:- 031010200000	BANK, AMBA 0903, IFSC:-	LA CANTT. - IBKL0000	310				
E.& (			Receiver's Sig	inature :		.'	Α,	
2. In is no	bods once sold will not be taken back. terest @ 18% p.a. will be charged if the paymen It made with in the stipulated time. Jbject to 'Haryana' Jurisdiction only.	t			for AL	.FA SCI	0//	NDUSTRIES

Chairperson S.B.R.S. Public Sr. Sec. School Mullowal (Sgr.)

S.B.R.S.Public Sen. Sec. School, Mullowel (Sangrur)



TAX INVOICE

GSTIN .: 06ABTPG1720B1Z5

Address: 5341 Punjabi Mohalla Ambala Cantt - 133001 (Haryana - INDIA) Ph : +91-171-4006826, 4006829, 4005829 Mobile No : +91-9416021766 , 9896301766, 9896311766 Email Address: info@guptagenciesindia.com Website : www.guptagenciesindia.com

Consignee (Ship to)			Invoi	ce No.		Dat	ed				
	Can Calu		202	2-23/190		23-Jun-22					
Sant Baba Ranjeet Singh Public Sr S VPO Mullowal, Distt. Sangrur (Punjab			Delivery Note								
Buyer (Bill to)	and month	Refe	rence No. 8	k Date.	Oth	er Refere	ences				
Sant Baba Ranjeet Singh Public Sr S	ool,	Buye	er's Order N	0.	Dated						
VPO Mullowal, Distt. Sangrur (Punja State Name: Punjab, Code: 03		Disp	atch Doc No	<b>o</b> .	Del	ivery Not	e Date				
Contact: 01675-229254, 98787-01426			Disp	atched thro	ugh	De	stination				
SI Description of Goods		HSN/SAC	GST Rate	Quantity	Rate	per	Disc. %	Ar	nount		
1 Educational Material kit		9023	18 %	1 PCS	21,852.70	PCS		:	21,852.70		
Less: Rou	IGST und Off								3,933.49		
	ind on								.,		
			5								
	2										
4											
	Total			1 PCS		-		7 25	,786.00		
Amount Chargeable (in words)	Total			TFUS				120	E. & O.E		
INR Twenty Five Thousand Seven H	lundred	Eighty Six	Only								
HSN/SA				Ta	axable	Integ	rated Tax		Total		
2022						ate 18%	Amour 3,933		ax Amount 3,933.49		
9023					1,852.70	10 /0	3,933	a second of a large state of the	3,933.4		
Tax Amount (in words) : INR Three Tho	usand N	line Hundr	Compa Bank N A/c No.	y <b>Three an</b> ny's Bank D ame	d Forty Nir	ahind 278 Cantt	ise Only ra Bank & KKBK	y 000028			

-Geela Un v

Chairperson S.B.R.S. Public Sr. Sec. School Mullowal (Sgr.)

S.B.R.S.Public Sen. Sec. School, Mullowel (Sangrur)

Proprietor

## GSTIN .: 06ABTPG1720B1Z

Address: 5341 Punjabi Mohalla Ambala Cantt - 133001 (Haryana - INDIA Ph : +91-171-4006826, 4006829, 4005829 Mobile No : +91-9416021766 , 9896301766, 989631176 Email Address: info@guptaagenciesindia.com Website : www.guptaagenciesindia.com

A Complete House of Scientific and Laboratory Equipment

тм

GUPTA

AN ISO CERTIFIED CO.

AGENCIES

	INVOICE FROM GUPTA AGENCIES DATED 23 JUNE 22			
1	Magnetic Compass 2"	10	14.00	140.00
2	Horse Dhoe 2"	10	70.00	700.00
3	Bar magnet 2"	10	50.00	500.00
4	Torch Bulb	10	4.50	45.00
5	Connecting Wires pair bana leads	10	40.00	400.00
6	Acid Accumulators/Battery 2 Volt - 20 Ah	4	360.00	1440.00
7	Acid Accumulators/Battery 2 Volt - 45 Ah	4	480.00	1920.00
8	Electric Bell Demostration	1	245.00	245.00
9	Plane Mirror round	10	8.00	80.00
10	Convex Mirror 2"	10	18.00	180.00
11	Concave Mirror 2"	10	18.00	180.00
12	Convex Lens 2"	10	12.50	125.00
13	Concave Lens 2"	10	13.50	135.00
14	Prism 2" Equilaterla	10	38.00	380.00
15	Rectangular Glass Slab	10	34.00	340.00
16	Drawing Pin Box	10	20.00	200.00
17	Drawinh Board 12x18	5	160.00	800.00
18	Stop Watch	4	125.00	500.00
19	Metre Scale	2	24.00	48.00
20	Hooks law apparatus	5	280.00	1400.00
21	Eureka wire 100 gms	1	100.00	100.00
	Cu Wire 100 gms	1	100.00	100.00
23	Nichrome 100 gms	1	125.00	125.00
24	Iron Wire	1	65.00	65.00
25	Ammeter	2	150.00	300.00
26	Volt Meter	2	150.00	300.00
27	Galranometer	2	150.00	300.00
28	Plug Key	2	38.00	76.00
29	Resistors coil	5	20.00	100.00
30	Aluminium strip /plate	5	42.00	210.00
31	Scissors 6" Sharp/Blunt	2	130.00	260.00

For Gupta Agencies

roprietor

-Geela Un v

5

Chairperson S.B.R.S. Public Sr. Sec. School Mullowal (Sgr.)

Principal, S.B.R.S.Public Sen. Sec. School, - Mullowel (Sangrur)

## GSTIN .: 06ABTPG1720B1Z5

Address: 5341 Punjabi Mohalla Ambala Cantt - 133001 (Haryana - INDIA) Ph : +91-171-4006826, 4006829, 4005829 Mobile No : +91-9416021766 , 9896301766, 9896311766 Email Address: info@guptaagenciesindia.com Website : www.guptaagenciesindia.com

AN ISO CERTIFIED CO.

AGENCIES

GUPTA

ТМ

A Complete House of Scientific and Laboratory Equipment

32 Reading Telescope On Stand, Routine Quality	. 1	1050.00	1050.00
33 Graphite Rods	10	42.00	420.00
35 Ethyl Alcohol 500ml	2	150.00	300.00
34 Safarine 125ML	. 1	113.00	113.00
36 Lime water 500 ML	1	120.00	120.00
37 Potassium Iodide 100 GMS	1	965.00	965.0
38 Barium sulfate	1	221.00	221.00
39 Barium chloride	1	188.00	188.0
40 Sodium chloride	- 1	117.00	117.0
41 Barium sulphate	1	221.00	221.0
42 sodium sulphate	1	155.00	155.0
43 Ammonium chloride	1	188.00	188.0
44 Blue Soloutions 5 LTR	1	1200.00	1200.0
45 Spirit Lamp SS	12	38.00	456.0
Chemistry			
Apparatus			
1 Dilute HCL - Hydrochloric acid 35% Extra Pure 00171, 500 ml	1	195.00	195.0
2 Dilute H2SO4 - SULPHURIC ACID 98% Extra Pure 00289, 500 M	1L 1	237.25	237.2
3 Dilute HNO3 -Nitric acid 69% Extra Pure 00223, 500 ml	1	255.45	255.4
4 Acetic acid glacial 99.5% Extra Pure 00004, 500 ml	1	227.50	227.5
6 (Iron(II) Sulphate heptahydrate) Extra Pure 03849, 500 gm	1	182.00	182.0
7 Barium chloride dihydrate 99% Extra Pure 01679, 500 gm	1	195.00	195.0
8 Sodium sulphate anhydrous 99% 06014, 500 gm	1	149.50	149.5
9 Potassium hydroxide pellets 85% Extra Pure 05378, 500 gm	1	344.50	344.5
10 Ammonia solution 28-30% Extra Pure 00025 , 500 ml	1	169.00	169.0
11 Iodine solution For TLC Spray 4200E , 125 ml	1	260.00	260.0
12 Benedict's reagent (Qualitative) 01772, 500 ml	1	149.50	149.5
13 Fehling's solution No.1 03814, 500 ml	1	266.50	266.5
14 Fehling's solution No. 2 03815, 500 ml	1	390.00	390.0
15 Starch soluble (ex potato) 06125, 500 gm	1	624.00	624.0
16 Dextrose mononydrate Extra Pure 03167, 500 gm	1	182.00	182.0
17 Urea 99% Extra Pure 06449, 500 gm	1	227.50	227.5
18 Glycerine - ALSO CALLED - Glycerol 98% Extra Pure 00155, 500	) ml 1	390.00	390.0
			21852.7
TAX 18%			3933.4
Total Amount Payable			25786.1

For Gupta Agencies

roprietor

-Geela Un v

Chairperson S.B.R.S. Public Sr. Sec. School Mullowal (Sgr.)

S.B.R.S.Public Sen. Sec. School, Mullowel (Sangrur)